Assembly Instructions

Page 1 of 2

Spruce™

End Tandem Table Figure A

Tools Required

e  Cordless Screwdriver with #P2 Phillips Bit @ O
e 1/2” Box End/Open End Wrench
e Torpedo Level

Ganging Bracket Bags Include:
o 40 -#8 X 5/8” Sheet Metal Screws

4 - L Brackets O @
2 - U Brackets
(Number of bags included will depend on the model) T

A AN

Figure B

End Table Installation

1. Place worksurface face down on clean, soft surface.

2. Remove L-brackets from packaging bag and place over
pre-drilled holes in center of worksurface bottom.
(Figure A)

Loosely Install 16- #8 x 5/8”. (Figure B)

Place leg in center of L-brackets, aligning vertical back
edge of leg to edge of end table.

Install 16- #8 x 5/8” sheet metal screws. (Figure C)
Tighten all 32 screws.

Place U-brackets over pre-drilled holes. (Figure A)
Install 8-#8 x 5/8” screws. (Figure D)

Remove 4 machine screws from chair frame.

Position the chair to be ganged to table in the desired
location. (Figure E)

W

WP

10. Use Torpedo Level to ensure tabletop is level to floor.

Figure C
If not, adjust table accordingly. 9
11. Install 4-5/16-18 x 3/4” machine screws through fﬂ
U-bracket to chair frame. (Figure F) //
il]t()lo“'()‘v()l]m Proper product installation, in accordance with these instructions, is the responsibility of the installing

agent. If you have any questions concerning these instructions, please call Customer Care.

2875562 Revision -



Spruce™

Assembly Instructions

Page 2 of 2

Figure D

Figure F

Figure E

interwoven:

2875562 Revision -

Proper product installation, in accordance with these instructions, is the responsibility of the installing

agent. If you have any questions concerning these instructions, please call Customer Care.





